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1| REHK NEARTE = Lgh ¥ 1 ¥ & X 58.00 1
2 % NEKTTE Z B A IE K 55.40 2
3 PR A KT Z R P F 1 & X 52.80 3
4 H A NEATEZ LR F ¥ Gk & 4 72.80 1
5 | HE#H NEAKTE = Lgh ¥ AP B R 68.60 2
6 s NEAKTE = Lgh ¥ AP BOF R 58.20 3
7| ZRE KT Z LR AP B R 56.00 4
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10 | =% NEAKTE = Lgh ¥ AP B 0.00 &
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17 | #®#& NEKTE Z B L& & 57.00 1
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19 | ZR# NEATE Z LR F ¥ LY & 48.60 3
20 | GRERR N Z K ARG AR | 73.60 1
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24 | BwiE NEATEZ LR F ¥ A 2T 60.20 3
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26 | ALz NEARTE = Lgh ¥ A AL 64.40 2
27 | &k NEKTE Z B AR 64.40 2
28| ¥H& NEKTTE Z B AR 63.40 4




